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Worksheet 12

Solving Word Problems

Solve.

Sam receives 3 coins from his father every day.
How many coins does he receive in a week?

He receives coins in a week.

o There are 4 cars at the garage.
Each car has 4 wheels.
How many wheels are there altogether?

There are wheels altogether.
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Ruby packs some sweets. She puts 8 sweets in each packet. @
There are 6 packets of sweets after packing. =
How many sweets does she have altogether?

oTher‘e are 7 tables in a room. Each table has 4 legs.
How many legs are there altogether?

Elliott buys 3 boxes of crayons.
There are 8 crayons in each box.
How many crayons are there altogether?
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